Potencias de 10 (B)

4.241 + 1000

9.5049 = 1000

2.9666 = 1000

5.2072 <1000

1.0756 = 1000

6.899 = 1000

2.0458 + 1000

2.439+ 1000

3.0676 <1000

1.5561 +1000

Calcule los siguientes cocientes.

6.0019 + 1000

3.7372 = 1000

7.2109 1000

1.2736 + 1000

8.3895 = 1000

8.3861 = 1000

2.8216 + 1000

5.9109 = 1000

4.4383 + 1000

2.2478 - 1000
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Potencias de 10 (B) Respuestas

4.241 1000
0.004241
9.5049 = 1000
0.0095049
2.9666 - 1000
0.0029666
5.2072 + 1000
0.0052072
1.0756 1000
0.0010756
6.899 - 1000
0.006899
2.0458 1000
0.0020458
2.439+-1000
0.002439
3.0676 = 1000
0.0030676
1.5561 = 1000
0.0015561

Calcule los siguientes cocientes.

6.0019 + 1000
0.0060019
3.7372 <1000
0.0037372
7.2109 = 1000
0.0072109
1.2736 = 1000
0.0012736
8.3895 + 1000
0.0083895
8.3861 = 1000
0.0083861
2.8216+ 1000
0.0028216
5.9109 = 1000
0.0059109
4.4383 + 1000
0.0044383
2.2478 - 1000
0.0022478
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